



# Article Urban Air Pollution and Emergency Department Visits for Neoplasms and Outcomes of Blood Forming and Metabolic Systems

Mieczysław Szyszkowicz<sup>1,\*</sup>, Anna Lukina<sup>1</sup> and Tatiana Dinu<sup>2</sup>

- <sup>1</sup> Environmental Health Science & Research Bureau, Health Canada, Ottawa, ON K1A 0K9, Canada; anna.lukina@hc-sc.gc.ca
- <sup>2</sup> Water and Air Quality Bureau, Health Canada, Ottawa, ON K1A 0K9, Canada; tatiana.dinu@hc-sc.gc.ca
- \* Correspondence: mietek.szyszkowicz@hc-sc.gc.ca or mszyszkowicz@yahoo.ca

Abstract: This study focused on investigating possible associations between exposure to urban air pollution and the number of emergency department (ED) visits for various health outcomes. The outcomes were grouped into four chapters of the International Classification of Diseases Tenth Revision (ICD-10) system (i.e., Chapter II-IV: "Neoplasms", "Diseases of the blood", "Endocrine, nutritional and metabolic diseases", and XVIII: "Symptoms, signs and abnormal clinical and laboratory findings"). The data were collected for the city of Toronto, Canada, (2004-2015, 4292 days). Four gaseous air pollutants (carbon monoxide (CO), nitrogen dioxide (NO2), ground level ozone (O3), and sulfur dioxide (SO<sub>2</sub>)) and fine particulate matter (PM<sub>2.5</sub>), and two calculated air quality health indexes (AQHI) based on Toronto were used. The statistical models were constructed by applying the conditional Poisson regression. The exposure was assessed over a maximum of 15 days (time lags 0-14 days). An analysis was performed with the following strata: sex, age, and seasons. Relative risks (RR) and their 95% confidence intervals (95%CI) were estimated for an increase in concentration by a one interquartile range (IQR). For the AQHI (composed of  $NO_2$ ,  $O_3$ , and  $PM_{2.5}$ ), IQR = 1, the estimations for lag 1 and all patients, are RR = 1.023 (95%CI: 1.008, 1.038), 1.026 (1.012, 1.040), 1.013 (1.003, 1.024), and 1.007 (1.003, 1.010) for Chapters II-IV and XVIII, respectively. The results show that in the four large, analyzed health groups, the impact of air quality mainly occurs over a short period (from current day to a maximum of 3 days after exposure).

**Keywords:** abdominal and pelvic pain; ambient air pollution; benign neoplasm; diabetes mellitus; relative risk

# 1. Introduction

There is growing evidence of the positive associations between exposure to ambient air quality and various health conditions starting from respiratory outcomes to various cardiac problems. For instance, short-term exposure to fine particulate matter of 2.5  $\mu$ m or less in aerodynamic diameter (PM<sub>2.5</sub>) was positively associated with hospital admissions for seven major disease categories (e.g., endocrine, nervous system diseases, digestive diseases, nutritional and metabolic diseases, circulatory diseases, respiratory diseases, musculoskeletal and connective tissue diseases, and genitourinary diseases) [1–3]. Additionally, similar associations were observed for 35 minor disease categories and the same-day PM<sub>2.5</sub> exposure in both single and two-pollutant models (e.g., chronic ulcer of skin, diabetes mellitus, anemia, liver diseases, intestinal infection, gastrointestinal hemorrhage, urinary tract calculus, renal failure, and back problems) [4].

Ambient daily exposure to  $PM_{2.5}$ , particulate matter of 10 µm or less in aerodynamic diameter ( $PM_{10}$ ), sulphur dioxide ( $SO_2$ ), and ground-level ozone ( $O_3$ ) was positively associated with lung cancer mortality defined as code C33 (malignant neoplasms of the trachea) and code C34 (malignant neoplasms of bronchus and lungs) according to the



Citation: Szyszkowicz, M.; Lukina, A.; Dinu, T. Urban Air Pollution and Emergency Department Visits for Neoplasms and Outcomes of Blood Forming and Metabolic Systems. *Int. J. Environ. Res. Public Health* **2022**, *19*, 5603. https://doi.org/10.3390/ ijerph19095603

Academic Editor: Teodoro Georgiadis

Received: 16 March 2022 Accepted: 3 May 2022 Published: 5 May 2022

Publisher's Note: MDPI stays neutral with regard to jurisdictional claims in published maps and institutional affiliations.



**Copyright:** © 2022 by the authors. Licensee MDPI, Basel, Switzerland. This article is an open access article distributed under the terms and conditions of the Creative Commons Attribution (CC BY) license (https:// creativecommons.org/licenses/by/ 4.0/). International Classification of Diseases version 10 (ICD-10; WHO, 2016) [5,6]. Furthermore, the study showed that the associations varied by city and season, daily air pollutants, and weather conditions, and had synergistic effects on the daily lung cancer mortality. The authors noticed that older people and male lung cancer patients were the most susceptible to air pollution exposure. Short-term exposure to SO<sub>2</sub> was associated with increased lung cancer mortality (ICD 10 codes: C33–C34) in males and varied by season [7].

Daily exposure to ambient  $PM_{2.5}$  was significantly associated with an increase in the prevalence of moderate and severe anemia (ICD-10 codes: C65 and C64, respectively), and decreased hemoglobin values in children under 5 years of age [8]. Short-term exposure to ambient fine particulate matters ( $PM_{2.5}$ ), carbon in atmospheric particulate matters, ultrafine particles, and accumulated mode particles was significantly associated with levels of anemia-related blood cell (ICD-10 codes: D50–D89) parameters levels in elderly, such as red blood cell count, hemoglobin, hematocrit, mean corpuscular hemoglobin, mean corpuscular hemoglobin concentration [9].

Exposure to volatile organic compounds (VOCs), carbon monoxide (CO), and nitrogen dioxide (NO<sub>2</sub>) was correlated to the odds of primary hypothyroidism (ICD-10 code: E03) in residents living near a petrochemical complex [10]. Short-term exposure to  $PM_{2.5}$  on lag 0 day was significantly associated with increases in hospital outpatient visits for endocrine (ICD-10 codes: E00–E90), digestive, urological (ICD-10 codes: R30–R39), and dermatological diseases [11]. Daily exposure to dust outbreaks containing high concentrations of  $PM_{10}$  and  $PM_{2.5}$  was significantly associated with respiratory emergency department visits (ICD-10 codes: R04.2–R06, R09.0–R09.3, R09.89) especially in the  $\geq$ 65 year and  $\leq$ 5 year age group [12].

In this study, it was hypothesized that exposure to urban air pollutants is positively associated with the adverse health outcomes grouped in the following four ICD-10 categories: (a) ICD-10 codes: C00–D48: Neoplasms (presented in Chapter II); (b) ICD-10 codes: D50–D98: Diseases of the blood and blood-forming organs and certain disorders involving the immune mechanism (presented in Chapter III); (c) ICD-10 codes: E00–E90: Endocrine, nutritional and metabolic diseases (presented in Chapter IV); and (d) ICD-10 codes: R00–R99: Symptoms, signs and abnormal clinical and laboratory findings, not elsewhere classified (presented in Chapter XVIII).

The primary purpose of the paper is to provide evidence that various health conditions, often not yet studied, are associated with air pollution. The objective of the present study is to show the associations of health problems in relation to air pollutants, their lags, and the considered subgroups (age, sex, and season). The research gap has mainly been created by the history of environmental epidemiology, where for a long period of time the respiratory conditions dominated such studies. Successively but slowly, other health problems were introduced and considered, by adding cardiac conditions, various aspects of mental health, and others. Probably, the domain that is still dominated by respiratory conditions, will differ markedly if the hypothesis that air pollution may be affecting every organ in the human body holds true. This presentation uses widely accepted statistical methodologies and reliable and well-established health and environmental data. The results will add to knowledge on the burden of disease in relation to acute changes in urban ambient air pollution concentrations.

#### 2. Materials and Methods

The present study accounted for patients' sex and age groups (0–60+ years) among those attending the emergency department (ED) of Toronto hospitals. In addition, the possible effects of seasons ("cold" expressed as October-March and "warm" expressed as April-September) during the study were also considered, which covered the overall period between April 2004 and December 2015 (total of 4292 days). The two seasons differ by the mean temperature, which in the cold season was 1.6 [minimum–maximum: -22.2-23.5] and in the warm season was 17.0 [-4.2-31.2]. The values are given in degrees Celsius.

## 2.1. Health Data

The boundaries of the study area are well defined by the Census Division (CD) of Toronto, one of the largest and most populous urban cities in Ontario. The considered region is approximately 630.2 square kilometers. Based on the 2016 CD, the population density of Toronto is 4334 people per square kilometer. The enumerated population of Toronto in the year 2016 was 2,731,571 persons. Daily ED visits by location within the well-determined CD of Toronto were linked using the alphanumeric postal codes. These six-character strings for each patient's home address were used to include the patients in the study.

The National Ambulatory Care Reporting System (NACRS) database was used as a source of the health outcomes data in this study (NACRS, 2020; [13]), based on the Canadian Institute Health Information (CIHI) reporting system [14]. The NACRS system contains more than 97% of the ED visits in the province of Ontario, in which Toronto is the capital. The database used is a health reporting system and among other health records contains patients' data on various primary diagnoses during the ED visits. The data were retrieved for the period between 1 April 2004 and 31 December 2015, inclusively, for a total of 4292 days. The daily ED visits were identified using the primary cause of emergency department visits registered in the analyzed health records. The cases were categorized using the International Classification of Diseases Tenth Revision (ICD-10) codes [5] (WHO, 2016). The following health conditions grouped in the four chapters of this classification system were analyzed: Chapter II: (C00–D48) labelled as "Neoplasms", Chapter III: (D50–D89) labelled as "Diseases of the blood and blood-forming organs and certain disorders involving the immune mechanism", Chapter IV: (E00-E90) labelled as "Endocrine, nutritional and metabolic diseases", and lastly Chapter XVIII: (R00-R99) labelled as "Symptoms, signs and abnormal clinical and laboratory findings, not elsewhere classified". The analysis was performed separately for each of the four health outcomes. To investigate any possible modifying effects of patients' sex (male, female, and all), age (from 0 to 60+ years old), and influence of seasons (warm season defined as the period between April and September and cold season defined as the period between October and March) on the ambient air quality associations with the analyzed four health outcomes the 18 strata were defined. The strata were constructed using sex, age group, and season.

# 2.2. Environmental Data

Long-term ambient air pollution data and meteorological conditions data were collected by the National Air Pollution Surveillance (NAPS) monitoring program, maintained by Environment and Climate Change Canada (NAPS, 2020; [15]). The data were collected by daily averages of 24 h measurements using seven municipal fixed-site monitoring stations with an approximate maximum distance among them of 15 km. There were nine air pollution monitoring stations with two stations paired (very close to each other) and the twins operated exclusively and alternatively. The data were collected every hour (total of 24 h) and on a daily basis for the entire course of the study. Five major air pollutants were considered, such as carbon monoxide (CO), nitrogen dioxide (NO<sub>2</sub>), ground-level ozone  $(O_3)$ , sulfur dioxide  $(SO_2)$  and fine particulate matter  $(PM_{2.5})$ . Ground-level  $O_3$ was also measured at a maximum 8 h average since such a pollutant can reach its highest concentration during sunlight hours. On the other hand, meteorological data including daily ambient mean temperature and relative humidity were collected from one monitoring station only located at the Toronto airport [16]. The composite Air Quality Health Index (AQHI), which unites individual pollutants, such as  $NO_2$ ,  $O_3$  and  $PM_{2.5}$ , concentrations measured in only Toronto was also calculated. The AQHI is expressed using an 11-point scale (from 1 to 10, and 10+), where lower points mean low risks to human health and higher points mean higher risks to human health. The derivation, interpretation and discussion of the methodological approach on calculating AQHI is discussed in detail in [17]. In a similar way, the AQHIX was defined by using  $O_3$ -8h rather than  $O_3$  in the formula.

Exposure data were assessed at a maximum of 15 days (lags from 0 to 14 days) to consider any potential delayed effects of elevated air pollution levels that persisted for several days.

#### 2.3. Statistical Methods

A time-stratified case-crossover design was applied to examine the associations between air pollutants and the considered adverse health outcomes grouped in the chapters [18,19]. This design has been widely and commonly executed to investigate the associations of short-term air pollution exposures on the risk of acute health outcomes. The technique compares exposure levels between the event time ('case') and the matched control periods ('no case'). As the comparisons are performed within individuals and within the same time window, this design controls for time-trends, time-invariant characteristics, and inter-patient variations, such as sex, age, and comorbidity. In this study, the calendar month was selected as a fixed time window and one day as the time unit. In the present study, a conditional quasi-Poisson regression model was applied. It has been shown that such a model is a flexible alternative to the conditional logistic model realization of the case-crossover method [20,21]. The advantage of using quasi-Poisson regression is that it controls for over dispersion and autocorrelation to fit the time-stratified case-crossover design. A mathematical representation of the model has the following form

$$H_{i,s}|H_{.,s} \sim Multinomial\left(\pi_i = \frac{exp\{\beta^T x_i\}}{\sum_{j \in s} exp\{\beta^T x_j\}}\right),\tag{1}$$

where  $H_{i,s}$  is the number of health events (counts) on the cluster and  $H_{i,s} = \sum_{i} H_{i,s}$  is the sum of events calculated in each considered cluster. The notation in the formula is used as follows: event day *i*, *j* is an index on *S*,  $\beta$  is a row vector of coefficients, and *T* denotes transposition. A vector *x* contains variables of interest (air pollutants and weather factors). The parameters associated with clusters are eliminated by conditioning on the sum of

events on each constructed cluster [21]. In the study, the health data were organized as daily counts of the number of ED visits for the considered adverse health conditions. The applied statistical method was realized using the *gnm* procedure (an R Package for Generalized Nonlinear Models; [22]).

FitModel = gnm (EDCounts~AirPollutant + ns (RelativeHumidity,3) + ns (Temperature,3)).

The model has the following transcription form

Additionally, in the presented model, ns is the natural spline realized with 3 degrees of freedom. In the calculations the following options were included in the specification of the *gnm* routine: family = *quasipoisson*, eliminate = *factor* (Cluster). The variable EDCounts represents daily counts for the considering health data and cluster. Quasi-Poisson is used to model an overdispersed count variable. The realized approach was developed in the study conducted by Armstrong and colleagues [21] as a flexible alternative to the case-crossover method [18]. Conditional Poisson regression is realized on the clusters determined by a hierarchical structure of the calendar. The data were grouped by year, month, and day of week. The clusters group the same weekdays, thus one cluster includes 4 or 5 days. It is a technique very similar to the time-stratified case-crossover approach to organize case days and control days [19,20].

The strata (sub-groups of the patients) were defined by sex, age group (under 11, between 11 and 60, over 60 years of age), and season (warm and cold period). The results from all models are presented in the Supplementary Materials. A *p*-value of lower than 0.05 was considered statistically significant. The model results were also compared using a *p*-value < 0.001.

# 3. Results

The top frequencies of the number of ED visits by the considered chapters were as follows: 96,198 (28.9% of all in the corresponding chapter) for D12 ("Benign neoplasm of colon, rectum, anus and anal canal"), 36,305 (48.4%) for D64 ("Other anaemias"), 27,299 (25.6%) for E11 ("Non-insulin-dependent diabetes mellitus"), 512,573 (22.0%) for R10 ("Abdominal and pelvic pain"), respectively. Table 1 represent the top 20 frequencies in the four considered Chapters II–IV and XVIII, respectively.

**Table 1.** Top 20 frequencies of ED visits classified in Chapters II and III.

C00D48	Frequency	%	D50D89	Frequency	%
D12	96,198	28.9	D64	36,305	48.4
C44	26,088	7.8	D57	10,261	13.7
C50	18,970	5.7	D50	8490	11.3
C67	16,003	4.8	D70	6390	8.5
D25	13,043	3.9	D69	4350	5.8
C34	12,117	3.6	D68	3152	4.2
D41	11,075	3.3	D61	1473	2.0
C18	8324	2.5	D86	659	0.9
D17	8269	2.5	D72	589	0.8
C61	7776	2.3	D75	500	0.7
D24	7413	2.2	D53	387	0.5
D22	7259	2.2	D66	367	0.5
C78	5382	1.6	D56	358	0.5
D05	4703	1.4	D58	312	0.4
C79	4654	1.4	D59	292	0.4
D37	4462	1.3	D73	217	0.3
D06	4310	1.3	D52	194	0.3
D23	3964	1.2	D62	142	0.2
C20	3855	1.2	D51	123	0.2
D27	3798	1.1	D80	94	0.2
E00E90	Frequency	%	R00R99	Frequency	%
E11	27,299	25.6	R10	512,573	22.0
E87	19,190	18.0	R07	398,248	17.1
E86	13,929	13.0	R51	111,339	4.8
E14	13,686	12.8	R50	111,089	4.8
E10	13,302	12.5	R42	99,923	4.3
E16	4524	4.2	R06	94,296	4.1
E04	3926	3.7	R11	92,029	4.0
E83	3827	3.6	R55	85,902	3.7
E05	1105	1.0	R31	75,426	3.2
E03	775	0.7	R00	55,931	2.4
E(1				FF 200	
E61	539	0.5	R53	55 <i>,</i> 390	2.4
E06	494	0.5	R56	55,390 52,139	2.2
E06	494 430 372	0.5	R56	52,139	2.2
E06 E27	494 430	0.5 0.4	R56 R04	52,139 51,807	2.2 2.2
E06 E27 E88	494 430 372	0.5 0.4 0.4	R56 R04 R05	52,139 51,807 50,436	2.2 2.2 2.2
E06 E27 E88 E28	494 430 372 294	0.5 0.4 0.4 0.3	R56 R04 R05 R33	52,139 51,807 50,436 44,464	2.2 2.2 2.2 1.9
E06 E27 E88 E28 E85	494 430 372 294 296	0.5 0.4 0.4 0.3 0.3	R56 R04 R05 R33 R21	52,139 51,807 50,436 44,464 42,862	2.2 2.2 2.2 1.9 1.8
E06 E27 E88 E28 E85 E65	494 430 372 294 296 275	0.5 0.4 0.3 0.3 0.3	R56 R04 R05 R33 R21 R45	52,139 51,807 50,436 44,464 42,862 36,870	2.2 2.2 1.9 1.8 1.6

The table (Table 1) demonstrates that over 50% of all ED visits in the corresponding chapters is achieved by the first 5, 2, 3, and 5 of their top frequencies. This indicates a measure of the variability in health problems classified in the chapters. The analyzed daily counts amalgamate all the ED visits that occurred in one day. For example, the results show that in the case of Chapter III (Endocrine, nutritional and metabolic diseases; ICD10:

D50-D89) the following two health problems: "Other anaemias" and "Sickle-cell disorders" are dominant among those considered in this chapter. As a consequence, they are most likely to participate in the daily counts. It is expected that associations will be detected even for counts that group various health conditions. The associations can be statistically significantly positive or negative, and neutral (no associations).

The majority of the results are provided in the Supplementary Materials. A series of tables, such as Table C00D48, Table D50D89, Table E00E90, and Table R00R99 represent the statistics on the number of daily ED visits over 4292 days of the study period. The tables illustrate the total number of ED visits, and their minimum, maximum, mean, median and two percentiles (25th and 75th) of daily frequencies. These characteristics are derived from 18 constructed strata and are presented in the tables. The following number of ED visits were identified by the considered four chapters: Neoplasms (Chapter II) 333,485 (female 176,234), Diseases of the blood and blood-forming organs and certain disorders involving the immune mechanism (Chapter III) 74,998 (41,850), Endocrine, nutritional and metabolic diseases (Chapter IV); 116,583 (61,282), and Symptoms, signs and abnormal clinical and laboratory findings, not elsewhere classified 2,325,328 (1,282,317). The counts related to the number of ED visits classified by ICD-10 codes R00–R99 are much higher than counts identified for other three chapters. Chapter XVIII covers a large spectrum of health conditions. For example, one subgroup (ICD-10 codes: R00–R09—"Symptoms and signs involving the circulatory and respiratory systems") contains a very large spectrum of health conditions (R00—Abnormalities of heart beat, R01—Cardiac murmurs and other cardiac sounds, R02—Gangrene, not elsewhere classified, R03—Abnormal blood-pressure reading, without diagnosis, R04—Haemorrhage from respiratory passages, R05—Cough, R06—Abnormalities of breathing, R07—Pain in throat and chest, R09—Other symptoms and signs involving the circulatory and respiratory systems). In this case, the subgroup (ICD-10: R00–R09) has health conditions related to the circulatory and respiratory systems. This wide spectrum of diseases justifies the large number of ED visits in Chapter XVIII. These tables are presented in the Supplementary Materials at the following website https: //github.com/szyszkowiczm/ICD10-C00D48-D50D89-E00E90-R00R99TORONTO, (accessed on 3 May 2022). The corresponding files also contain figures, which are maps of the associations for 2160 models.

The main goal of this work was to identify any possible associations between exposure to ambient air pollution and adverse health outcomes. The number of positive statistically significant associations obtained for the health problems is as follows: 260 (96), 285 (52), 198 (29), and 362 (97) for Chapters II, III, IV, and XVIII, respectively. The numbers were obtained for a *p*-value <0.05. The numbers in the parentheses are shown for a *p*-value <0.001.

Figures 1–3 illustrate a summary of the frequency of positive statistically significant (*p*-value<0.05) associations. Each statistical model was constructed for three specifications, which were as follows: individual air pollutant, composite air health effects index, time lag, and strata expressed by patients' sex and age and seasons. Thus, the results are constructed in the 3D space with these three coordinates. To identify the potential patterns of the associations, a kind of "summary" was created.

Figure 1 illustrates the results "summarized" by the strata. Thus, it shows the projection of 3D space onto a 2D plane with the axis air pollutant and their lags. In this situation, classification by strata is ignored (associations are summarized by strata). The cells show how many associations were obtained for the considered strata. The maximum value in a cell can be 18, in such a scenario, each stratum has an association. The figure shows that the indexes (AQHI, AQHIX) have high number of associations for health conditions classified in Chapters II–IV. The indexes represent multipollutant exposures. Their individual components have high associations with ED visits classified in Chapter II and IV for NO<sub>2</sub> and for PM<sub>2.5</sub> in Chapter III. For ED visits classified in Chapter XVII, fine particulate matter had the highest number of positive associations.



**Figure 1.** Frequencies of the numbers of positive statistically significant (*p*-value < 0.05) associations summarized by all strata (as per patients' sex and age, and seasons). Chapters II–IV and XVIII (ICD-10 codes: C00–D48, D50–D89, E00–E90, and R00–R99) are based on the Toronto patients attending ED in a period between 2004 and 2015.

	A	CIHC		NO2		3 H		SO2			AC	HIX	0	102	03 03	B Ha	M2.5	SO2	otal
Air Pollution:	AQHI 3	3	CO 1	3	03	0	M2.5 0	0	Total 10		5	3	3	3	0	0	6	2	22
Female	2	3	1	3	0	0	0	o	9		4	4	1	3	1	0	3	4	20
Male	3	3	1	3	1	0	0	0	11		3	2	1	2	0	0	1	0	9
Warm All	6	4	4	4	5	5	5	1	34		3	3	4	3	4	4	2	2	25
the second s	4	5	5	4	4	7	3	1	33		4	4	3	3	3	5	4	3	29
Warm Male Cold All	6	5	5	2	5	5	5	1	34	8	2	2	1	2	2	1	1	2	13
Cold All	2	3	0		1	1	2	0	13	5	7	6	3	6	0	0	8	3	33
	2	2	2	3	0	0	1	0	10	ICD-10:D50-D89	6	6	2	8	0	0	8	3	33
Cold Female	3	3	0		1	1	1	1	14	H	2	3	3	2	0	0	2	0	12
Age 0-10 All	0	0	0	2	0	0	1	0	3	2	1	1	0	1	0	0	1	2	6
Age 0-10 Female	0	0	0	0	2	1	0	0	3		0	0	2	0	0	0	0	1	3
Age 0-10 Male	6	6	1	3	0	4	3	2	25		2	2	1	2	1	0	2	1	11
Age 11-60 All	1	3	1	3	0	1	0	0	9		5	4	1	3	2	2	4	2	23
Age 11-60 Female	1	2	1	2	0	0	0	o	6		and the second second	4	1	2	0	1	4	1	19
Age 11-60 Male	4	4	0	-	1	1	0	0	15		0	0	0	0	2	0	1	0	3
Age 60+All	3	3	1	3	0	0	0	0	10		2	2	1	2	0	0	1	1	9
Age 60+ Female	3	3	2	3	0	0	0	0	11		2	2	1	3	0	0	1	2	11
Age 60+ Male	3	3	1	3	Ő	0	o	ō	10		1	1	1	1	0	0	0	0	4
Total	52	55	26			26	21	6	260		55	49	29	46	15	13	49	29	285
												~							
Air Pollution:	A AQH 4	QHI I 4	X CO 2	NO2	2 03 2	2	18 PM2. 3	5 SO2	Total 21		AQH		co 4		03	2	18 PM2.4	502 5 1	Total 20
	AQH	1	CO	_	03		PM2.	5	Total				ĊO				PM2.	5 1	otal
All	AQH 4	4	CO 2	3	03	2	PM2.	5 1	Total 21		AQH 3	2	CO 4	2	03 2	2	PM2.	5 1	Total 20
All Female	AQH 4 3	4	2 1	32	03 2 2	2	PM2. 3 2	5 1 2	Total 21 16		AQH 3 2	2 2	¢0 4 2	2 2	03 2 2 1	2	PM2.	5 T 1 1	otal 20 16
All Female Male Warm All	AQH 4 3 0	4 3 0	CO 2 1	3 2 0 4	03 2 2 0	2 1 1	PM2. 3 2 0	5 1 2 0	Total 21 16 1		AQH 3 2 2 6	2 2 2	CO 4 2 4	2 2 2	03 2 2	2 1 2	4 4 4	5 1 1 1 0	fotal 20 16 17
All Female Male Warm All Warm Female	AQH 4 3 0 3	4 3 0 3	CO 2 1 0 3	3 2 0 4	03 2 2 0 0	2 1 1 3	PM2. 3 2 0 2	5 1 2 0 1	Total 21 16 1 19		AQH 3 2 2 6	2 2 2 7 6	CO 4 2 4 4 5	2 2 2 5 6	03 2 2 1 2 2 2 2	2 1 2 6	PM2. 4 4 4 6 6	5 1 1 0 3 3	otal 20 16 17 39 36
All Female Male Warm All Warm Female Warm Male Cold All	AQH 4 3 0 3 2	4 3 0 3 2	CO 2 1 0 3 0	3 2 0 4 1	03 2 2 0 0 1	2 1 1 3 2	PM2. 3 2 0 2 2 2	5 1 2 0 1 1	Total 21 16 1 19 11		AQH 3 2 2 6	2 2 2 7	CO 4 2 4 4	2 2 2 5	03 2 2 1 2	2 1 2 6 2	PM2. 4 4 4 6	5 1 1 1 0 3	fotal 20 16 17 39
All Female Male Warm All Warm Female Warm Male Cold All	AQH 4 3 0 3 2 2 2	4 3 0 3 2 2	CO 2 1 0 3 0 3	3 2 0 4 1 3	03 2 2 0 0 1	2 1 1 3 2 2	PM2. 3 2 0 2 2 2 2	5 1 2 0 1 1 1 2	Total 21 16 1 19 11 16		AQH 3 2 2 6	2 2 2 7 6 3	CO 4 2 4 4 5 2	2 2 2 5 6 2	03 2 1 2 2 1 2 2 1	2 1 2 6 2 4	PM2. 4 4 4 6 6 3	5 1 1 0 3 3 2	20 16 17 39 36 21
All Female Male Warm All Warm Female Warm Male Cold All	AQH 4 3 0 3 2 2 4	4 3 0 3 2 2 3	CO 2 1 0 3 0 3 2	3 2 0 4 1 3 3	03 2 2 0 0 1 1 0 3	2 1 1 3 2 2 1	PM2. 3 2 0 2 2 2 2 2 2	5 1 2 0 1 1 2 2 2	Total 21 16 19 11 16 20		AQH 3 2 2 6	2 2 2 7 6 3 3 4	CO 4 2 4 4 5 2 4	2 2 2 5 6 2 2 3	03 2 2 1 2 2 2 1 3	2 1 2 6 2 4 3 3	PM2. 4 4 4 6 6 3 7 3	5 1 1 1 0 3 3 2 2 2	otal 20 16 17 39 36 21 27
All Female Male Warm All Warm Female Warm Male Cold All Cold Female Cold Male	AQH 4 3 0 3 2 2 2 4 6	4 3 0 3 2 2 3 6	CO 2 1 0 3 0 3 2 3	3 2 0 4 1 3 3 5 0	03 2 2 0 0 1 0 3 2	2 1 1 3 2 2 1 2	PM2. 3 2 0 2 2 2 2 2 2 2 2 2	5 1 2 0 1 1 1 2 2 4	Total 21 16 1 19 11 16 20 30	ICD-10:R00-R99	AQH 3 2 2 6 6 4 3 2 4	2 2 2 7 6 3 3 4 2	CO 4 2 4 4 5 2 4 3	2 2 2 5 6 2 2 3 2	03 2 2 1 2 2 1 3 3 1	2 1 2 6 2 4 3 3 2	PM2. 4 4 4 6 6 3 7 3 7 3 7	5 T 1 1 0 3 3 2 2 2 1	otal 20 16 17 39 36 21 27 22 24
All Female Male Warm All Warm Female Warm Male Cold All Cold Female Cold Male Age 0-10 All	AQH 4 3 0 3 2 2 2 4 6 0	4 3 0 3 2 2 3 6 0	CO 2 1 0 3 0 3 2 3 0	3 2 0 4 1 3 3 5 0	03 2 2 0 0 1 0 3 2 1	2 1 1 3 2 2 1 2 0	PM2. 3 2 0 2 2 2 2 2 2 0	5 1 2 0 1 1 1 2 2 4 0	Total 21 16 1 19 11 16 20 30 1		AQH 3 2 2 6	2 2 2 7 6 3 3 4	CO 4 2 4 4 5 2 4 3 4	2 2 5 6 2 2 3 2 3 2 3	03 2 2 1 2 2 1 3 3 1 2 2	2 1 2 6 2 4 3 3	PM2. 4 4 4 6 6 3 7 3	5 T 1 1 0 3 3 2 2 2 1 2	rotal 20 16 17 39 36 21 27 22 24 29
All Female Male Warm All Warm Female Warm Male Cold All Cold Female Cold Male	AQH 4 3 0 3 2 2 4 6 0 1	4 3 0 3 2 2 3 6 0 0 0	CO 2 1 0 3 0 3 2 3 0 0 0	3 2 0 4 1 3 3 5 0	03 2 2 0 0 1 0 3 2 1 1	2 1 1 3 2 2 1 2 0 0	PM2. 3 2 0 2 2 2 2 2 2 0 1	5 1 2 0 1 1 1 2 2 4 0 1	Total 21 16 19 11 16 20 30 30 1 5		AQH 3 2 2 6 6 6 4 3 2 4 3 3 3	2 2 2 7 6 3 3 4 2 2	CO 4 2 4 4 5 2 4 3 4 4 6	2 2 2 5 6 2 2 3 2 3 3 3 3	03 2 2 1 2 2 1 3 3 1 2 1 2 1 2 1 2 1	2 1 2 6 2 4 3 3 2 0 0 0	PM2. 4 4 4 6 6 3 7 3 7 6	5 T 1 1 2 3 3 2 2 1 2 9	rotal 20 16 17 39 36 21 27 22 24 29 26
All Female Male Warm All Warm Female Warm Male Cold All Cold Female Age 0-10 All Age 0-10 Female	AQH 4 3 0 3 2 2 4 6 0 1 3	4 3 0 3 2 2 3 6 0 0 1	CO 2 1 0 3 0 3 2 3 0 0 0 1	3 2 0 4 1 3 3 5 0 1 2 0	03 2 2 0 1 0 3 2 1 1 1 1	2 1 1 3 2 2 1 2 2 1 2 0 0 0 0	PM2. 3 2 0 2 2 2 2 2 2 2 0 1 4	5 1 2 0 1 1 1 2 2 4 0 1 4	Total 21 16 19 11 16 20 30 10 5 16 0		AQH 3 2 2 6 6 6 4 3 2 4 3 3 1	2 2 2 7 6 3 3 4 2 2 3 0	CO 4 2 4 4 5 2 4 3 4 4 4 6 1	2 2 5 6 2 2 3 2 3 3 3 1	03 2 2 1 2 2 1 3 3 1 2 1 2 1 0	2 1 2 6 2 4 3 3 2 0 0 0 1	PM2 4 4 4 6 6 3 7 3 7 5 5 5	5 T 1 1 1 0 3 3 2 2 2 2 1 2 9 5 7	otal 20 16 17 39 36 21 27 22 24 29 26 16
All Female Male Warm All Warm Female Warm Male Cold All Cold Female Age 0-10 All Age 0-10 Male	AQH 4 3 0 3 2 2 2 4 6 0 1 3 0	4 3 0 3 2 2 3 6 0 0 0 1 1 0	CO 2 1 0 3 0 3 2 3 0 0 0 1 0 0	3 2 0 4 1 3 3 5 0 1 2 0 1	03 2 2 0 0 1 0 3 2 1 1 1 1 0	2 1 1 3 2 2 1 2 0 0 0 0 0 0	PM2. 3 2 0 2 2 2 2 2 2 2 0 1 4 0	5 1 2 0 1 1 1 2 2 4 0 1 1 4 0	Total 21 16 19 11 16 20 30 10 5 16 0		AQHI 3 2 2 6 6 6 4 3 2 4 3 3 1 2	2 2 2 7 6 3 3 4 2 2 3 0 2	CO 4 2 4 4 5 2 4 3 4 4 4 6 1 2	2 2 5 6 2 2 3 3 2 3 3 1 2	03 2 2 1 2 2 1 2 2 1 3 3 1 2 1 0 2	2 1 2 6 2 4 3 3 2 0 0 0 1 1	PM2. 4 4 4 6 6 6 3 7 3 7 6 5 5 5 2	5 1 1 1 0 3 3 2 2 2 1 2 9 5 7 1	otal           20           16           17           39           36           21           27           22           24           29           26           16           14
All Female Male Warm All Warm Female Warm Male Cold All Cold Female Age 0-10 All Age 0-10 Male Age 0-10 Male Age 11-60 All	AQH 4 3 0 3 2 2 2 4 6 0 1 3 0 1 3 0 2	4 3 0 3 2 2 3 6 0 0 1 0 1 0 2	CO 2 1 0 3 0 3 2 3 0 0 1 0 0 1 0 2	3 2 0 4 1 3 3 5 0 1 2 0 1	03 2 2 0 0 0 1 0 0 1 0 3 2 1 1 1 1 0 0	2 1 1 2 2 1 2 2 1 2 0 0 0 0 0 0 0 0	PM2. 3 2 0 2 2 2 2 2 2 0 1 4 0 3	5 1 2 0 1 1 2 2 4 0 1 1 4 0 1 1 4 0 0	Total 21 16 19 11 16 20 30 11 5 16 0 11		AQH 3 2 2 6 6 6 4 3 2 4 3 3 1 2 2 2	2 2 2 7 6 3 3 3 4 2 2 3 0 2 2 2	CO 4 2 4 4 5 2 4 3 4 4 3 4 4 6 1 2 0	2 2 2 5 6 2 2 3 3 2 3 3 1 2 2 1	03 2 2 1 2 2 1 3 3 1 2 1 0 2 0	2 1 2 6 2 4 3 3 2 0 0 0 1	PM2 4 4 4 6 6 3 7 3 7 5 5 5	5 T 1 1 1 0 3 3 2 2 2 2 1 2 9 5 7	otal           20           16           17           39           36           21           27           22           24           29           26           16           14           10
All Female Male Warm All Warm Female Warm Male Cold All Cold Female Age 0-10 All Age 0-10 Female Age 0-10 Male Age 11-60 Female	AQH 4 3 0 3 2 2 2 4 6 0 0 1 3 0 0 2 1	4 3 0 3 2 2 3 6 0 0 1 1 0 2 2	CO 2 1 0 3 0 3 2 3 0 0 1 0 0 1 0 2 0	3 2 0 4 1 3 3 5 0 1 2 0 1 1 2	03 2 2 0 0 1 0 3 2 1 1 1 1 2	2 1 1 2 2 1 2 2 1 2 0 0 0 0 0 0 0 0 0 0	PM2. 3 2 0 2 2 2 2 2 2 2 0 1 4 0 3 2 2 2 2 2 2 2 2 2 2 2 2 2	5 1 2 0 1 1 1 2 2 2 4 0 1 4 0 0 2	Total 21 16 19 11 16 20 30 10 5 16 0 11 11 10		AQH 3 2 2 2 2 2 6 6 6 6 6 6 4 3 3 2 2 4 3 3 1 2 2 2 2 0	2 2 2 7 6 3 3 4 2 2 3 0 2 2 2 2	CO 4 2 4 4 5 2 4 3 4 4 6 1 2 0 4	2 2 2 5 6 2 2 3 3 2 3 3 1 2 2 3 3 1 2 2 1 2	03 2 2 1 2 2 1 2 2 1 3 3 1 2 1 0 2 0 0 0	2 1 2 6 2 4 3 3 2 0 0 0 1 1 1 2 1	PM2. 4 4 4 6 6 6 3 7 3 7 6 5 5 5 2 2 2 0	5 1 1 1 1 0 3 3 2 2 2 1 2 9 5 7 1 1 1 1 1 1 1 1 1 1 1 1 1	Total           20           16           17           39           36           21           27           22           24           29           26           16           14           10           10
All Female Male Warm All Warm Female Warm Male Cold All Cold Female Cold Female Age 0-10 All Age 0-10 Female Age 11-60 All Age 11-60 Female Age 11-60 Male	AQH 4 3 0 3 2 2 2 4 6 0 1 1 3 0 0 2 1 0	4 3 2 2 3 6 0 0 1 0 2 2 0	CO 2 1 0 3 0 3 2 3 0 0 0 1 0 0 0 0 0 0 0 0	3 2 0 4 1 3 3 5 0 1 2 0 1 1 2 0 1	03 2 2 0 0 1 0 3 2 1 1 1 1 0 1 2 0	2 1 1 2 2 1 2 2 1 2 0 0 0 0 0 0 0 0 0 0	PM2. 3 2 0 2 2 2 2 2 2 2 2 2 2 2 2 2	5 1 2 0 1 1 1 2 2 4 0 1 1 4 0 0 2 0	Total 21 16 1 9 11 16 20 30 10 30 11 5 16 0 11 10 0		AQH 3 2 2 2 2 6 6 6 6 6 4 3 2 2 4 3 3 1 1 2 2 2 0 3	2 2 2 7 6 3 3 4 2 2 3 0 2 2 2 2 2 2	CO 4 2 4 4 5 2 4 3 4 4 6 1 2 0 4 2	2 2 5 6 2 2 3 3 2 3 3 1 2 2 3 3 1 2 2 2 2 2	03 2 2 1 2 2 1 3 3 1 2 1 0 2 0 0 0 2	2 1 2 6 2 4 3 3 2 0 0 1 1 1 2 1 1	PM2. 4 4 4 6 6 6 3 7 3 7 6 5 5 5 2 2 2 0 3	5 1 1 1 1 0 3 3 2 2 1 2 9 5 7 1 1 1 0	otal           20           16           17           39           36           21           27           22           24           29           26           16           14           10
All Female Male Warm All Warm Female Warm Male Cold All Cold Female Age 0-10 All Age 0-10 All Age 0-10 Male Age 11-60 Male Age 11-60 Male Age 60+All	AQH 4 3 0 3 2 2 2 4 6 0 1 1 3 0 0 2 1 0 0 1	4 3 0 3 2 2 3 6 0 0 0 1 0 0 1 0 2 2 0 1	CO 2 1 0 3 0 3 2 3 0 0 0 1 0 0 1 0 0 1	3 2 0 4 1 3 3 5 0 1 2 0 1 1 2 0 1 1 2 2	03 2 2 0 0 1 1 0 3 2 1 1 1 1 0 0 1 2 0 1	2 1 3 2 2 1 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	PM2. 3 2 0 2 2 2 2 2 2 2 2 2 2 2 2 2	5 1 2 0 1 1 1 2 2 2 4 0 1 1 4 0 0 2 0 1	Total 21 16 1 9 11 16 20 30 1 1 5 16 0 11 10 0 10		AQH 3 2 2 2 2 2 6 6 6 6 6 6 4 3 3 2 2 4 3 3 1 2 2 2 2 0	2 2 2 7 6 3 3 4 2 2 3 0 2 2 2 2	CO 4 2 4 4 5 2 4 3 4 4 6 1 2 0 4	2 2 2 5 6 2 2 3 3 2 3 3 1 2 2 3 3 1 2 2 1 2	03 2 2 1 2 2 1 2 2 1 3 3 1 2 1 0 2 0 0 0	2 1 2 6 2 4 3 3 2 0 0 0 1 1 1 2 1	PM2. 4 4 4 6 6 6 3 7 3 7 6 5 5 5 2 2 2 0	5 1 1 1 1 0 3 3 2 2 1 2 9 5 7 1 1 1 1 1 1 1 1 1 1 1 1 1	otal           20           16           17           39           36           21           27           22           24           29           26           16           14           10           15

**Figure 2.** Frequencies of the numbers of positive statistically significant (*p*-value < 0.05) associations summarized by all-time lags expressed as days (0–14). Chapters II–IV and XVIII (ICD-10 codes: C00–D48, D50–D89, E00–E90, and R00–R99) are based on the Toronto patients attending ED in a period between 2004 and 2015.

Figure 2 displays the same idea of the results in a 3D space projected onto a 2D plane. It shows the summaries for all considered time lags expressed as day, and thus, the maximum value in the cells can be 15 in a case if the associations were positive for all lags (0–14). The figure identifies stratum and air pollutants with the number of the positive statistically significant associations.

Figure 3 also presents the results on the plane with the axis stratum and lag. It summarizes the positive scores by all of the studied ambient air pollutants. The maximum value in the cells can be 8. This maximum value was obtained for lag 1 for two Chapters (III and XVIII; ICD-10 codes: D50–D89, R00–R99).



**Figure 3.** Frequencies of the numbers of positive statistically significant (*p*-value < 0.05) associations summarized by all air pollutants. Chapters II–IV and XVIII (ICD-10 codes: C00–D48, D50–D89, E00–E90, and R00–R99) are based on the Toronto patients attending ED in the period between 2004 and 2015.

The applied method to illustrate the results from 2160 statistical models allows us to qualify the various associations. Similar values were grouped by colour. The figures indicate the patterns for the four analyzed ICD-10 Chapters. The statistics on the environmental data (air pollutants, temperature, and relative humidity) are presented in Table 2 (publication [23]) by two seasons and for the whole period.

Tables 2–5 contain estimated relative risks (RR) and their 95% confidence intervals (CI) reported for an increase in concentration by a one interquartile range (IQR). The presented values were chosen for the studied ambient air pollutants and time lags, which have the highest scores of the positive associations. They are the AQHIX, AQHI, and PM<sub>2.5</sub> for lags 0, 1, and 2.

The tables provide estimations of RRs and 95CIs. The values with a low boundary of the confidence interval of greater than 1 are positive statistically significant. As in the total, there are  $4 \times 2160$  models the idea of the color maps demonstrates this well.

The results obtained from all models (2160) are given at the following website (https: //github.com/szyszkowiczm/ICD10-C00D48-D50D89-E00E90-R00R99TORONTO, (accessed on 3 May 2022)). The numerical results are accompanied by maps with values 0, 1, and -1. These values qualify the associations as none and statistically significantly positive and negative, respectively. The maps are figures, which also show these associations in color (0/white, 1/red, and -1/green). The corresponding files are: C00D48Map.jpg,

C00D48TorontoRRisk.csv; D50D89Map.jpg, D50D89TorontoRRisk.csv; E00E90Map.jpg, E00E90TorontoRRisk.csv; R00R99Map.jpg, and R00R99TorontoRRisk.csv as found at the abovementioned website. In addition, as was already mentioned above, Table C00D48, Table D50D89, Table E00E90, and Table R00R99, stored as pdf files, present tables with the top 20 frequencies and the corresponding maps of the associations. Four additional files HistTempRHum.jpg, HistAQHI-AQHIX-CO-NO2.jpg, HistO3-O3H8-PM25-SO2.jpg, and TorontoMapStation.jpg illustrate histograms of the used environmental factors and a map of Toronto.

**Table 2.** Relative risks (RR) and their 95% confidence intervals (95%CI) for an increase in the AQHI-X level by a one interquartile range (IQR = 1.5). ICD-10 codes: C00–D48; Chapter II Neoplasms Data recorded in Toronto, Canada for the period between April 2004 and December 2015.

Lags	Lag 0		Lag 1		Lag 2	
Strata	RR	95%CI	RR	95%CI	RR	95%CI
All	1.048	(1.032, 1.063)	1.032	(1.016, 1.047)	1.022	(1.006, 1.037)
Female	1.050	(1.034, 1.067)	1.031	(1.014, 1.047)	1.021	(1.004, 1.038)
Male	1.045	(1.028, 1.062)	1.033	(1.016, 1.050)	1.022	(1.005, 1.040)
Warm All	1.031	(1.019, 1.044)	1.020	(1.008, 1.033)	1.025	(1.012, 1.038)
Warm Female	1.031	(1.017, 1.045)	1.020	(1.006, 1.034)	1.027	(1.013, 1.042)
Warm Male	1.032	(1.018, 1.046)	1.021	(1.007, 1.035)	1.023	(1.008, 1.037)
Cold All	1.070	(1.052, 1.090)	1.048	(1.029, 1.067)	1.021	(1.003, 1.040)
Cold Female	1.078	(1.058, 1.098)	1.046	(1.027, 1.066)	1.017	(0.998, 1.037)
Cold Male	1.063	(1.042, 1.083)	1.049	(1.029, 1.070)	1.025	(1.005, 1.045)
Age 0–10 All	1.023	(0.958, 1.092)	1.063	(0.996, 1.134)	1.059	(0.991, 1.133)
Age 0–10 Female	0.955	(0.879, 1.037)	1.025	(0.943, 1.115)	1.020	(0.937, 1.110)
Age 0–10 Male0	1.094	(1.010, 1.184)	1.099	(1.017, 1.188)	1.099	(1.013, 1.192)
Age 11–60 All	1.050	(1.033, 1.067)	1.025	(1.008, 1.042)	1.019	(1.002, 1.036)
Age 11–60 Female	1.047	(1.028, 1.066)	1.020	(1.002, 1.039)	1.015	(0.996, 1.034)
Age 11–60 Male	1.055	(1.034, 1.076)	1.032	(1.011, 1.054)	1.025	(1.004, 1.047)
Age 60+ All	1.046	(1.030, 1.063)	1.037	(1.020, 1.053)	1.023	(1.007, 1.040)
Age 60+ Female	1.055	(1.036, 1.074)	1.042	(1.023, 1.061)	1.027	(1.008, 1.046)
Age 60+Male	1.040	(1.022, 1.058)	1.032	(1.014, 1.051)	1.020	(1.002, 1.038)

**Table 3.** Estimated relative risks (RR) and their 95% confidence intervals (95%CI) for an increase in the AQHI level by a one interquartile range (IQR = 1.0). ICD-10 codes: D50–D89; Chapter III Diseases of the blood and blood-forming organs and certain disorders involving the immune mechanism. Data recorded in Toronto, Canada for the period between April 2004 and December 2015.

Lags	Lag 0		Lag 1		Lag 2	
Strata	RR	95%CI	RR	95%CI	RR	95%CI
All	1.025	(1.011, 1.039)	1.026	(1.012, 1.040)	1.014	(1.000, 1.028)
Female	1.024	(1.007, 1.042)	1.030	(1.012, 1.048)	1.007	(0.989, 1.025)
Male	1.026	(1.006, 1.046)	1.021	(1.001, 1.042)	1.023	(1.003, 1.043)
Warm All	1.025	(1.012, 1.038)	1.022	(1.009, 1.035)	1.013	(1.000, 1.026)
Warm Female	1.029	(1.012, 1.046)	1.027	(1.010, 1.045)	0.999	(0.982, 1.016)
Warm Male	1.021	(1.002, 1.039)	1.015	(0.997, 1.034)	1.031	(1.012, 1.050)
Cold All	1.027	(1.012, 1.042)	1.032	(1.017, 1.047)	1.017	(1.002, 1.032)
Cold Female	1.022	(1.004, 1.042)	1.035	(1.015, 1.054)	1.018	(0.999, 1.037)
Cold Male	1.034	(1.012, 1.056)	1.028	(1.006, 1.050)	1.015	(0.993, 1.037)
Age 0–10 All	1.037	(0.983, 1.094)	1.032	(0.978, 1.089)	1.001	(0.948, 1.057)
Age 0–10 Female	1.036	(0.964, 1.115)	1.015	(0.943, 1.093)	0.953	(0.885, 1.027)
Age 0–10 Male0	1.039	(0.969, 1.115)	1.048	(0.977, 1.124)	1.042	(0.970, 1.119)
Age 11–60 All	1.014	(0.994, 1.034)	1.026	(1.005, 1.046)	1.024	(1.004, 1.045)
Age 11–60 Female	1.017	(0.991, 1.043)	1.034	(1.008, 1.061)	1.022	(0.996, 1.049)
Age 11–60 Male	1.010	(0.979, 1.041)	1.014	(0.983, 1.046)	1.028	(0.997, 1.060)
Age 60+ All	1.033	(1.014, 1.052)	1.026	(1.007, 1.045)	1.007	(0.988, 1.026)
Age 60+ Female	1.030	(1.005, 1.055)	1.028	(1.003, 1.053)	0.999	(0.975, 1.024)
Age 60+Male	1.036	(1.009, 1.063)	1.024	(0.997, 1.052)	1.017	(0.990, 1.044)

Table 4. Relative risks (RR) and their 95% confidence intervals (95%CI) for an increase in the AQHI
level by a one interquartile range (IQR = 1.0). ICD-10 codes: E00-E90; Chapter IV Endocrine,
nutritional and metabolic diseases. Data recorded in Toronto, Canada for the period between April
2004 and December 2015.

Lags	Lag 0		Lag 1		Lag 2	
Strata	RR	95%CI	RR	95%CI	RR	95%CI
All	1.014	(1.003, 1.025)	1.013	(1.003, 1.024)	1.011	(1.001, 1.022)
Female	1.024	(1.009, 1.039)	1.018	(1.004, 1.033)	1.009	(0.995, 1.024)
Male	1.004	(0.989, 1.019)	1.008	(0.993, 1.023)	1.014	(0.999, 1.029)
Warm All	1.007	(0.997, 1.018)	1.013	(1.003, 1.023)	1.012	(1.002, 1.022)
Warm Female	1.019	(1.006, 1.033)	1.016	(1.002, 1.030)	1.003	(0.989, 1.016)
Warm Male	0.995	(0.981, 1.009)	1.009	(0.995, 1.024)	1.022	(1.008, 1.037)
Cold All	1.023	(1.011, 1.035)	1.012	(1.001, 1.024)	1.012	(1.000, 1.024)
Cold Female	1.030	(1.014, 1.047)	1.020	(1.003, 1.036)	1.021	(1.004, 1.037)
Cold Male	1.015	(0.999, 1.031)	1.005	(0.989, 1.021)	1.003	(0.987, 1.019)
Age 0–10 All	1.065	(1.001, 1.133)	1.026	(0.963, 1.092)	1.010	(0.948, 1.075)
Age 0–10 Female	1.098	(1.016, 1.187)	0.988	(0.912, 1.072)	0.974	(0.898, 1.057)
Age 0–10 Male0	1.034	(0.955, 1.120)	1.061	(0.980, 1.147)	1.040	(0.960, 1.127)
Age 11–60 All	1.014	(0.998, 1.030)	1.010	(0.994, 1.026)	1.018	(1.002, 1.035)
Age 11–60 Female	1.028	(1.005, 1.051)	1.016	(0.994, 1.039)	1.021	(0.998, 1.045)
Age 11–60 Male	1.001	(0.979, 1.023)	1.004	(0.982, 1.026)	1.016	(0.993, 1.038)
Age 60+ All	1.012	(0.998, 1.027)	1.015	(1.001, 1.030)	1.006	(0.992, 1.021)
Age 60+ Female	1.019	(1.000, 1.038)	1.021	(1.002, 1.040)	1.003	(0.984, 1.022)
Age 60+Male	1.005	(0.984, 1.025)	1.009	(0.988, 1.030)	1.011	(0.990, 1.032)

**Table 5.** Relative risks (RR) and their 95% confidence intervals (CI) for an increase in fine particulate matter ( $PM_{2.5}$ ) level by a one interquartile range (IQR = 6.5 ppb). ICD-10 codes: R00–R99; Chapter XVIII Symptoms, signs and abnormal clinical and laboratory findings, not elsewhere classified. Data recorded in Toronto, Canada for the period between April 2004 and December 2015.

Lags	Lag 0		Lag 1		Lag 2	
Strata	RR	95%CI	RR	95%CI	RR	95%CI
All	1.005	(1.002, 1.008)	1.006	(1.003, 1.009)	1.004	(1.001, 1.007)
Female	1.005	(1.002, 1.009)	1.006	(1.002, 1.009)	1.004	(1.001, 1.008)
Male	1.004	(1.001, 1.008)	1.006	(1.002, 1.009)	1.003	(0.999, 1.007)
Warm All	1.002	(0.999, 1.005)	1.005	(1.002, 1.008)	1.002	(0.999, 1.005)
Warm Female	1.002	(0.999, 1.006)	1.005	(1.002, 1.009)	1.004	(1.001, 1.008)
Warm Male	1.001	(0.997, 1.004)	1.004	(1.001, 1.008)	1.000	(0.996, 1.003)
Cold All	1.007	(1.004, 1.010)	1.007	(1.004, 1.009)	1.004	(1.001, 1.007)
Cold Female	1.008	(1.004, 1.011)	1.006	(1.003, 1.010)	1.004	(1.000, 1.007)
Cold Male	1.006	(1.003, 1.010)	1.007	(1.003, 1.010)	1.005	(1.002, 1.009)
Age 0–10 All	1.013	(1.005, 1.022)	1.011	(1.003, 1.020)	1.011	(1.002, 1.019)
Age 0–10 Female	1.011	(1.000, 1.023)	1.009	(0.998, 1.020)	1.011	(1.000, 1.022)
Age 0–10 Male0	1.015	(1.005, 1.025)	1.013	(1.003, 1.023)	1.010	(1.000, 1.021)
Age 11–60 All	1.004	(1.001, 1.007)	1.005	(1.002, 1.009)	1.003	(1.000, 1.006)
Age 11–60 Female	1.006	(1.002, 1.010)	1.006	(1.002, 1.010)	1.003	(0.999, 1.007)
Age 11–60 Male	1.002	(0.998, 1.006)	1.004	(1.000, 1.008)	1.003	(0.998, 1.007)
Age 60+ All	1.004	(1.000, 1.008)	1.006	(1.001, 1.010)	1.003	(0.998, 1.007)
Age 60+ Female	1.004	(0.999, 1.009)	1.004	(0.999, 1.010)	1.004	(0.999, 1.009)
Age 60+Male	1.005	(0.999, 1.010)	1.007	(1.001, 1.012)	1.001	(0.996, 1.007)

# 4. Discussion

Numerous studies have shown positive correlations between short-term changes in ambient air pollution concentrations and cardiopulmonary health outcomes. The number of related publications very well represent the situation in the thematic and cause-specific-oriented studies [1]. The ratio of these numbers, compared as pulmonary- versus cardiac-related publications, strongly indicate a traditional approach in environmental epidemiology. It is a common-sense assumption that the "inhalation of a polluted air affects the human respiratory system". A recent search for the corresponding publications in PubMed with the keywords "air pollution pulmonary" resulted in over 12,000 results. A similar search with the string "air pollution cardiac" showed 3838 results. In contrast, a search with the words "air pollution depression" returned 593 results, and the string "air

pollution mental" gives 977 results in total. These numbers very well characterize the subject and focus of the studies in the environmental domain.

The presented work considers four different large groups of health conditions organized in the separated Chapters of the ICD-10 classifications. These health outcomes are different but in the present study were "exposed" to the same environmental data. In addition, the same statistical methodology was applied to investigate the associations. This approach can elucidate and compare potential effects. The intention here is to show that other diseases are also associated with exposure to ambient air quality. The results demonstrate very consistent associations for time lags from 0 to 3 or 4 days for the considered health condition categories.

The results present summaries of the relations in the form of color maps. They help to visually identify the patterns of the associations. The tabulated relative risks and their 95% confidence intervals provide quantitative estimations of the risks. There are few publications in environmental epidemiology related to the health conditions analyzed here. As a consequence, it is difficult to compare the presented results with the results reported by other studies. Here, the burden of diseases in relation to urban ambient air pollution concentrations is mainly presented.

There are a few noteworthy advantages of the present study. The data used are very reliable. The health data were collected and administrated by CIHI, which are very well organized and classified by professional nosologists [13]. Environmental data, air pollutant measurements and weather factors, were measured by the site-fixed monitoring stations network spread around Toronto [15]. The statistical methodology used, in its kernel as conditional Poisson regression, is very reliable and relatively fast.

The main limitation of this study is that it does not control for individual exposure, its duration and air pollutant concentrations. It assumed the same exposure among patients attending ED for all health outcomes cases. The study also does not adjust for heterogeneity of exposure to air pollution in a population. Individuals are affected by numerous sources of pollution and usually it is not registered by an ambient air pollution monitor. Such exposure might be due to smoking habits, second-hand smoke exposure, cooking emissions, wildfires, occupational exposure, and proximity to major roads. In the study, the multiplicity of comparisons performed (2160 models) may introduce a possibility of erroneous associations. The presented figures in the form of color maps show a consistent pattern of the associations for four ICD-10 Chapters. The strongest effects are present for the exposures lagged by 0 or 1 day.

## 5. Conclusions

In the present study, we took as an implicit assumption that daily cases are mixtures of health events which have associations with air pollution and those that do not have. A very low resolution is here applied with respect to health conditions. A consideration of specific health problem should increase the number of associations, as is the case when analyzing all respiratory vs. asthma and ozone concentration. As demonstrated in the Figures, response to exposure is present and many cases may play the role of white noise.

The present study suggests that acute changes in urban air pollutant concentrations may affect the numbers of the ED visits for the diseases classified into four different categories. The results demonstrated that air pollution concentrations have the strongest correlations for exposures that are lagged from 0 to 4 days. The study can be considered as an n=an initial exploration of the specific health conditions from the used Chapters. The direction suggested here is from general to specific health conditions rather than in the opposite direction, such as from asthma to respiratory conditions.

The results of the study also encourage a similar study. Traditionally, the majority of the studies in environmental epidemiology have focused on cardiopulmonary health conditions. Here, it has been shown that other health problems are also related to ambient air pollution concentrations.

12 of 13

**Supplementary Materials:** The supporting information can be downloaded at the following website: https://github.com/szyszkowiczm/ICD10-C00D48-D50D89-E00E90-R00R99TORONTO (accessed on 10 March 2022).

Author Contributions: Conceptualization, M.S. and A.L.; methodology, M.S.; software, M.S.; validation, M.S., A.L. and T.D.; formal analysis, M.S.; investigation, M.S.; resources, M.S.; data curation, M.S.; writing—original draft preparation, M.S.; writing—review and editing, M.S., A.L. and T.D.; visualization, M.S.; supervision, M.S.; project administration, M.S.; funding acquisition, M.S. All authors have read and agreed to the published version of the manuscript.

Funding: This research received no external funding.

**Institutional Review Board Statement:** The current study was exempt from review by the Health Canada Research Ethics Board since patients' data were publicly available and already de-identified prior to use in the study.

Informed Consent Statement: Not applicable.

**Data Availability Statement:** Air pollution data: National Air Pollution Surveillance Program. https: //www.canada.ca/en/environment-climate-change/services/air-pollution/monitoring-networksdata/national-air-pollution-program.html, (accessed on 10 March 2022). Health data: https://www. cihi.ca/en/national-ambulatory-care-reporting-system-metadata, (accessed on 10 March 2022).

Acknowledgments: The authors acknowledge Environment and Climate Change Canada for providing the air pollution data from the National Air Pollution Surveillance (NAPS) network. Parts of this material are based on data and information compiled and provided by the Canadian Institute for Health Information (CIHI). However, the analyses, conclusions, opinions and statements expressed herein are not necessarily those of CIHI. The authors acknowledge Health Canada for supporting this study.

Conflicts of Interest: The authors declare no conflict of interest.

# References

- 1. Gu, J.; Shi, Y.; Zhu, Y.; Chen, N.; Wang, H.; Zhang, Z.; Chen, T. Ambient air pollution and cause-specific risk of hospital admission in China: A nationwide time-series study. *PLoS Med.* **2020**, *17*, e1003188. [CrossRef] [PubMed]
- Szyszkowicz, M.; de Angelis, N. Ambient air pollution and emergency department visits in Toronto, Canada. *Environ. Sci. Pollut. Res.* 2021, 28, 28789–28796. [CrossRef] [PubMed]
- 3. Szyszkowicz, M.; de Angelis, N. Urban Air Pollution and Emergency Department Visits for Cardiac and Respiratory Diseases. *Adv. Environ. Eng. Res.* **2021**, *3*, 1. [CrossRef]
- 4. Szyszkowicz, M.; Schoen, S.; de Angelis, N. Air Pollution and Emergency Department Visits for Disease of the Genitourinary System. *Environ. Health Insights* **2021**, *15*, 1–10. [CrossRef] [PubMed]
- World Health Organization. World Health Organization. International Statistical Classification of Diseases and Related Health Problems; 10th Revision; World Health Organization: Geneva, Switzerland, 2016. Available online: https://icd.who.int/browse10/2016/en (accessed on 17 January 2022).
- 6. Wang, N.; Mengersen, K.; Tong, S.; Kimlin, M.; Zhou, M.; Wang, L.; Yin, P.; Xu, Z.; Cheng, J.; Zhang, Y.; et al. Short-term association between ambient air pollution and lung cancer mortality. *Environ. Res.* **2019**, *179*, 108748. [CrossRef] [PubMed]
- Zhu, F.; Ding, R.; Lei, R.; Cheng, H.; Liu, J.; Shen, C.; Zhang, C.; Xu, Y.; Xiao, C.; Li, X.; et al. The short-term effects of air pollution on respiratory diseases and lung cancer mortality in Hefei: A time-series analysis. *Respir. Med.* 2019, 146, 57–65. [CrossRef] [PubMed]
- Morales-Ancajima, V.C.; Tapia, V.; Vu, B.N.; Liu, Y.; Alarcón-Yaquetto, D.E.; Gonzales, G.F. Increased Outdoor PM<sub>2.5</sub> Concentration Is Associated with Moderate/Severe Anemia in Children Aged 6–59 Months in Lima, Peru. *J. Environ. Public Health* 2019, 2019, 16127845. [CrossRef] [PubMed]
- Gao, K.; Chen, X.; Zhang, L.; Yao, Y.; Chen, W.; Zhang, H.; Han, Y.; Xue, T.; Wang, J.; Lu, L.; et al. Associations between differences in anemia-related blood cell parameters and short-term exposure to ambient particle pollutants in middle-aged and elderly residents in Beijing, China. *Sci. Total Environ.* 2021, *816*, 151520. [CrossRef] [PubMed]
- 10. Zaccarelli-Marino, M.A.; Alessi, R.; Balderi, T.Z.; Martins, M.A.G. Association between the Occurrence of Primary Hypothyroidism and the Exposure of the Population Near to Industrial Pollutants in São Paulo State, Brazil. *Int. J. Environ. Res. Public Health* **2019**, *16*, 3464. [CrossRef] [PubMed]
- 11. Wang, C.; Zhu, G.; Zhang, L.; Chen, K. Particulate matter pollution and hospital outpatient visits for endocrine, digestive, urological, and dermatological diseases in Nanjing, China. *Environ. Pollut.* **2020**, *261*, 114205. [CrossRef] [PubMed]
- 12. Merrifield, A.; Schindeler, S.; Jalaludin, B.; Smith, W. Health effects of the September 2009 dust storm in Sydney, Australia: Did emergency department visits and hospital admissions increase? *Environ. Health* **2013**, *12*, 32–37. [CrossRef] [PubMed]

- NACRS. The National Ambulatory Care Reporting System, Canadian Institute for Health Information (CIHI), Canada. Available online: https://www.cihi.ca/en/national-ambulatory-care-reporting-system-metadata (accessed on 30 September 2020).
- 14. Gibson, D.; Richards, H.; Chapman, A. The National Ambulatory Care Reporting System: Factors that affect the quality of its emergency data. *Int. J. Inf. Qual.* 2008, 2, 97. [CrossRef]
- 15. NAPS. National Air Pollution Surveillance Program. Available online: https://www.canada.ca/en/environment-climate-change/ services/air-pollution/monitoring-networks-data/national-air-pollution-program.html (accessed on 30 September 2020).
- Vicedo-Cabrera, A.M.; Sera, F.; Liu, C.; Armstrong, B.; Milojevic, A.; Guo, Y.; Tong, S.; Lavigne, E.; Kyselý, J.; Urban, A.; et al. Short term association between ozone and mortality: Global two stage time series study in 406 locations in 20 countries. *BMJ* 2020, *368*, m108. [CrossRef] [PubMed]
- Stieb, D.M.; Burnett, R.T.; Smith-Doiron, M.; Brion, O.; Shin, H.H.; Economou, V. A New Multipollutant, No-Threshold Air Quality Health Index Based on Short-Term Associations Observed in Daily Time-Series Analyses. *J. Air Waste Manag. Assoc.* 2008, 58, 435–450. [CrossRef] [PubMed]
- Maclure, M. The Case-Crossover Design: A Method for Studying Transient Effects on the Risk of Acute Events. *Am. J. Epidemiol.* 1991, 133, 144–153. [CrossRef]
- Janes, H.; Sheppard, L.; Lumley, T. Case-crossover analyses of air pollution exposure data: Referent selection strategies and their implications for bias. *Epidemiology* 2005, 16, 717–726. [CrossRef]
- 20. Szyszkowicz, M. Use of generalized linear mixed models to examine the association between air pollution and health out-comes. *Int. J. Occup. Med. Environ. Health.* **2006**, *19*, 224–227. [CrossRef]
- Armstrong, B.G.; Gasparrini, A.; Tobias, A. Conditional Poisson models: A flexible alternative to conditional logistic case cross-over analysis. *BMC Med. Res. Methodol.* 2014, 14, 122. [CrossRef] [PubMed]
- 22. Turner, H.; Firth, D. Generalized Nonlinear Models in R: An Overview of the gnm Package. (Version 1.1-1, 2020-02-02). Available online: https://cran.r-project.org/web/packages/gnm/vignettes/gnmOverview.pdf (accessed on 16 October 2021).
- Lukina, A.O.; Maquiling, A.; Burstein, B.; Szyszkowicz, M. Exposure to urban air pollution and emergency department visits for diseases of the ear and mastoid processes. *Atmos. Pollut. Res.* 2021, 12, 101198. [CrossRef]